IZ#ELE  Standard Product

B ZR R (H) Model Indication[ Example]

NSS 7 3.7
/ \ NN N N
==ku ZRFou ZFou BE BB FR0B

NT)T TARY 1)> %  Width Displacement Disk dia
Needle bearing Steel disk  Steel link

B R UM BAZEEmm) B8 F BARL BLRS + i (mm) ¥ al o527 um
aD?

et '\tI)Lf"ﬂglfr Maximum(%ﬁ;;lacement pe?kag?qgue sexgntlgrrgue E%?E‘t?;% Dimension (mm) beaﬁﬁ??oad pinR;i(titi:lIJ]sc(i)rfcle LED

NSS | n | 25x085 | B \Nmigim) |Nomlgim) | (/min) | D | B | S 21| G | M| K| CN) | R(m) | (k) | (kgfm?)
737 | 32 | 68 65 | 137(14) | 49(5) | 3000 | 70|74 36|25 48 |Mi0| 10| 3870 | 0024 | 13 |, 0"
779 | %2 | 133 | 128 |196(20) | 68(7) | 2500 |92 |74|70|45|70 wio| 10| 3870 | 0035 | 19 |, O
10942 | 82 | 171 | 165 | 600(61) | 196(20) | 2000 |120|101) 90|50 | 90 |Mi2| 15| 8920 | 0045 | 49 | , 50"
18944 | 3x2 | 171 | 165 |1060(108)| 350(36) | 1800 140|134 90 | 55 100 (16| 22 | 14120 | 0050 | 104 10
61066 | 3x2 | 190 | 183 |1350(189)| 640(65) | 1500 |16 155|100| 60 |115|M16| 25 | 21570 | 0057 | 157 | , .10
2920 | 32 | 171 | 165 |3470(354) 1180(120) 1000 (200|196 90 | 80 |150|M20| 30 | 30890 | 0075 | 270 | g <k

() QO_DTERIIFELUCERTIHEAIPHIET,
OfFERREII— 10C~+ 60°COFEERN TIHEA T,

(Notes) @ Dimensions in the table are subject to change without prior notice.
@ Use of the temperature range :Within — 10°C~+ 60°C

AZR Detail A
2 AZBEER
; Thrust collar
Oil seal = g,
Grease nipple Needle bearing  AANY=l  AZAMNT—
TV=RA=yTN =—RARTULT Disk F1Z%
o TR
2NN
Washer
Tyiv— b1E

Cal
=\'—1Ey7"

E N

Link Grease nipple
st JV=Z_v T

In accordance with
A-MT.6x1 JIS B1575
except for model NSS 7.3.7

JIS B 1575 A-MT 6Xx1
1BL.NSS 7.3. 78 1kR<

3XMetric screw
3XMxY




2031 —X 20Series

B FN (B) Model Indication] Example]

N S S 20. 9. 20/4
:—{)l« ZF—)b  RF—)L @ik THE TARIE ULIERHK

TG T4 2R )24  Width Displacement  Disk dia Number
Needle bearing Steel disk  Steel link of link

TR IIPPEE Tt TN bl e T % (mm) N ar | oo |EE

GD*
Model Not;lngﬁr Maximum(g]i;;)ﬂacement peitlfgpqgue sexiac)gn;grgue E%aﬁa?ﬁ Dimension (mm) beaﬁﬁzi?oad pinngi‘tjcil#c?rfcle Mass
NSS | n|2sx085 | BB (g |Nmlgim | (/min) | D | B | S 21| G N| K| CIN) | R | (k)| (kef-m)
20920/ | 4x2 470(425) | 1370(140) | 600 | 200 80 150 4 0075 | 30 | 072
209235 | 5x2 6280(640) | 2060(210) | 500 | 230 120180 5 0000 | 35 | 123
209256 | 6x2 | 171 | 165 | 830(850) | 2750(280) | 460 |250|196| 90 |120(200| 6 | 30 | 30890 | 0100 | 43 | 179
209338 | 8x2 15700(1600) | 5200(530) | 300 | 330 210|280/ 8 0140 | 59 | 474
2093910| 10x2 23500(2400) | 7850(800) | 250 |39 250340 | 10 0170 | 79 | 9.0

(F) @IDIV—-RIFEFEEBHELSTOETDTEEDEVZEDHIET,
F ZOI)—ZXLAN TERBMDEARAFICEDEREHIBUETOTIHEHKT I,
Q@D THERIIFELUERTIHAPHIET,
OFEREEIEI—10C~+60COFEHARNTIHERA T,
(Notes) @This series is taking a system to produce for purchace order, so in some cases some item will not be available from stock.
Please request us for adapting specifications to your equipment conditions if you wish other specifications than the above series.
@Dimensions in the table are subject to change without prior notice.
@Use of the temperature range :Within—10°C~+60°C

Detail A
ABREHHE

AZB -
Grease nipple

J)—ZXZy T Oil seal Thrust collar

Needle bearing 13— ), A7AMAIT—
e AV A— 7427 _Disk

:

Washer
7y —

NN
Grease nipple
J)=ZZyTIv

(JIS B 1575 A-MT6X1)

N-Metric 20 screw
N-M20x2




DLYU—X

DL Series

DLYU—Xl& . YaZvbAvTUYTY
— A0k EEELTRELH UL UV IR
SN ERIAAYTUYITT,

HOFTREN TE BITTHDOREEDFL,
AFED O [EE(CSHEE T HATHICmE
LET,

The DL Series are a new link-type small-shaft
center displacement coupling developed as a
companion to the Schmidt Coupling Series.
Allowing parallel displacement of shafts and
involving no retiring force, they transmit the
rotation of the input shaft to the output shaft with
a high degree of accuracy

*Involve no restoring force

OETHDRENTEL) * Allow parallel displacement of shafts even
@ LD DFITRENHOIRE during rotation
@/ WISl * A minimum of backlash
_ . + Almost no rotational angle shift
OEIEAD AL HTALIIL High rigidity &
@SHI%E *High efficiency
O== *Maintenance-free operation
@A FFIATU— * Allow zero setting of both shaft centers

OV /X TH. MmO EOYh D EEE

although they are of a link type

BIXF R (H) Model Indication[ Example]

DL 7.7 - 02
o VAN

AT Y WETE 714 X9 RiE
Double link  Width ~ Disk dia. Eccentricity

. HEGE | RERS .
1] 1S e < 3 =
B X U RoE MV E ~F & (mm) g=
GD?2 X107!
Number | Alowable | Standard ) )
Model f link Eccentricity | transmission | maximum Dimension (mm) Mass
@r i forque | revolution
DL n (mm) |Nemkgfm)| (r/min) D B ZH7) G M K (kg) (kgf+m?)
7.7-02 2X2 2 93(9.5) 2000 70 74 25 48 M10 10 1.1 0.031
7.9-03 2X2 3 135(138) | 1800 92 74 45 70 M10 10 1.7 0.092
10.12-04 | 2x2 4 402(41.0) | 1600 120 101 50 90 M12 15 4.4 0.399
13.14-04 | 2x2 4 706(72.0) | 1400 140 134 55 100 M16 22 9.1 1.04
16.16-04 | 2%x2 4 1230(125) | 1200 160 155 60 115 M16 25 139 2.04
20.20-04 | 2x2 4 2310(236)| 1000 200 196 80 150 M20 30 241 5.75
() @ZOTEREFELUEETIHAIHIET. OfFHEEIF— 10C~+ 60CHBEARTIHEA T &L,

(Notes) @ Dimensions in the table are subject to change without prior notice. @ Use of the temperature range :Within — 10°C~+ 60°C

Oil seal #1I)Lo—Ib
Thrust collar 27 2kH7—
Disk 71X¥

Needle bearing Z—KILAT71>%
/ Flat head screw M/\al
Oring A—1)>%
Snap ring 2+ 7 )25

End disk T2 FT(2Y

Washer 7y2v—
Cap ¥vv7

S

)

#D
oz
1

P.CDG

6& Link V>7

L—

Detailed cross
| section of A

I=




WIRIEARED S IEEREEUSIRILE
Recommended standard flange specification and clamping bolt

B fimm/Dimension mm

HE
Item B (#ERhE)
A B @ D Ewmax F G H J K L Mass
770 (¢E is solid)
Flange name
N-7 70 42 25 0020 28 18 10 2 02 48 10.5 M6 15 0.4kg X 2
-0.041 0
-0.025 +0.2
N-9 92 45 45 0,050 45 30 10 2 0 70 10.5 M6 15 0.9kg x 2
-0.025 +0.2
N-12 120 50 50 0,050 60 40 15 3 0 90 13 M8 15 2.0kg X 2
-0.030 +0.2
N-14 140 60 55 0,060 65 45 20 35 0 100 17 M8 15 3.2kg X 2
-0.030 +0.2
N-16 160 75 60 0,060 80 50 25 5 0 115 17 M10 20 5.2kg X 2
N-20 200 90 80 8828 105 70 30 5 +8'2 150 21 M10 20 10kg X 2

~I#[ /Dimensional drawing Ok (tiElE EEYU—XDLYU—X IS YUBERDSEELT
THALREE L,

@158 (FCR5018) R H CRIEL TR L,

@SR RUF— RS BRHICADE TREL TS,

QN AGERIE. RREMAXDEIF CTRYIEL T EE LY,

- Please use this specification as a reference to produce the flange for Standard
series /DL series.

+Flange should be made by cast iron (FC250 equivalent) or steel material.

+The bore and key way should be designed to suit the connection shaft.

+The engagement part of the shaft should be produced within the range not
exceeding the Emax.

PA

>‘ oE |<
-~ ¢pD —>

— PCD H£0.1—>

2X120°-K
Tow positions in direction 120°

75T DEASHEELITHRIVE /Applicable model and clamping bolt for flange

Iﬁlt B #H /Application RETERIVE | (FhES ABRAAILR
=089 em o 3k T4 =7 Bolt Washer Hexagon soket
75 SR v2y3yMv7Y27 | DL 2U—X
Flange name Schmidt Coupling | DL Series (dx2) dxt head c2p bolt
z —_—
N-9 NSS 779 7. 9-03 M10x20 10x2.5 ‘
13
N-12 NSS 10.9.12 10.12-04 M12X30 12X3 J 4
N-14 NSS 139.14 |  13.14-04 M16x40 16x4 e
»‘ =
N-16 NSS 16.10.16 16.16-04 M16x50 16X4 @é
L)
N-20 NSS 20.9.20 20.20-04 M20x60 20x5.1
RS (28)
Spring washer




